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7% 8 ik TA77b5% DIDEE L=115kmLTF =708.7%0.05 35.4 35| m3
Ay TATTIMAEE 35.4 35 m3
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AR X E R Bi#R (). W=15cm t=1.5mm, AR, HKEHEE |=4.0%2+100 18.0 18] m
A X E R t°7°5(8). W=45cm t=1.5mm, {#£FARXRE., HKiEHEEE (=25 2.5 3 m
AR X E R REN-EEE-XF(B). 15emRE. t=1.5mm, HARM. Hokisem (=(12.5+16.5%2)%1.2 54.6 55 m
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Bt X E R EHXFIME W=0. 75m, L=1.5m, t=1.5mm, & 4.0 4| &R
MmEFERERTY- SR+ BEEY-). t=1.2m, B 1.0 1| &R




A I = 4 B =
No2
I & - # B 18 # % Betse | B | B 0=
MEEEBERTY- ' 74F03°3-) 650 (91yhy-b. ¥ RFAUSHEZ) 1.0 1| &R
MEBEBERTY- £ 04F03° 39 ¢ 750  (1yhy-b. ¥ RFAUSHEZ) 1.0 1| &R
MEEEBERTY- ' {FEMFRTRD 800%400 (9{y9y-b, ¥ 234VSHEH) 1.0 1| &R
MEEEBERTY- E {FERRRQ 16004400 (499y-b, ¥ A54VSHEH) 1.0 1| &R
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| ERERREER t=50mm AEEZEIE (M-30 t=30mm) =& (t=50mm)
p: =1 XFEERE | '8 8 | FH | F B |WBE|FH| F BE|RBE|F Y| I B
e 8 =] BT W@
No.0 7.30 7.30 7.30
+ 0.0
No.0 7.15 7.23 1446 7.15 7.23 144.6 7.15 7.23 144.6
+ 20.00 20.0
No.0 6.95 7.05 141.0 6.95 7.05 141.0 6.95 7.05 141.0
+ 40.00 20.0
No.0 6.90 6.93 138.6 6.90 6.93 138.6 6.90 6.93 138.6
+ 60.00 20.0
No.0 7.40 7.15 143.0 7.40 7.15 143.0 7.40 715 143.0
+ 80.00 20.0
No.0 7.75 7.58 12.1 7.75 7.58 12.1 7.75 7.58 12.1
+ 81.60 1.6
No.0 11.10 9.43 17.0 11.10 9.43 17.0 11.10 9.43 17.0
+ 83.40 1.8
No.0 13.50 12.30 135 13.50 12.30 135 13.50 12.30 135
+ 84.50 1.1
No.0 18.30 15.90 31.8 18.30 15.90 31.8 18.30 15.90 31.8
+ 86.50 2.0
No.0 17.40 17.85 78.5 17.40 17.85 78.5 17.40 17.85 78.5
+ 90.90 4.4
SHE R 0.36%96.6=34.8 -348| 0.36%96.6=34.8 -348| 0.36%96.6=34.8 -34.8
R 90.9 685.3 685.3 685.3
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| ERERREER t=50mm AEEZETE (RC-30 t=30mm) =& (t=50mm)
p: =1 XFEERE | '8 8 | FH | F B |WBE|FH| F BE|RBE|F Y| I B
e 8 =] BT W@
No.0 1.95 1.95 1.95
+ 0.0
No.0 1.95 1.95 21.8 1.95 1.95 21.8 1.95 1.95 21.8
+ 11.20 11.2
No.0 0.00 0.98 1.6 0.00 0.98 1.6 0.00 0.98 1.6
+ 12.80 1.6
12.8 234 234 234
& i




